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SN HASARENRS
o MION XA W 29
Sl MYCXIEA U SY(YHUBMAUNELALS LS H) CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
401 A& HIZ 201 I 19,893,443 19,954,200 AB0,757
01 A& HI 19,230,443 19,409,200 A 178,757
O A&E1LBHAAST (2HH) ZHAY 19,230,443
O 3 AHHI(4XH2) 18,826, 143,000& = 14l 18,826,143
O HgH= &#d 9 200,000,0008 = 14 200,000
O 8% ¥ YAHsY 2482
260,000& = 7002 X 182,000
O 8JI8: ?I¢ =8
54,0002 * 200E X 10,800
O 0&EsS) Y s+
10,000& = 200E Xl 2,000
O ZA - -3#Xs) & YA SX7Y
5,000& = 100E X 500
O HYUEX LHEI +48
3,000,000& = 3JH7] 2 9,000
02 2eltl 643,000 500,000 143,000
O A 1LBHAAST(2SH) ZH ALY 643,000
O Zeldl(3x&) 643,000,000& * 14 643,000
03 Al2 S THHI 20,000 45,000 225,000
O ARILLMASGT FHAY
20,000,000& * 14 20,000
AHAEAA T SLHE SN L (A LBIAI AT ES 1,500,000 2,000,000 500,000
ASEE3I)
Xl 1,500,000
401 Al HI K 201 I 1,500,000 2,000,000 500,000
Xl 1,500,000
01 A& HI 1,500,000 2,000,000 A 500,000
O NgauOlZggac A
1,500,000,000& = 14 1,500,000
Xl 1,500,000
H=XH™elAl - 1,242,857 0 1,242,857
= 870,000
Al 372,857
401 AIEHI L 201 1,242,857 0 1,242,857
= 870,000
Al 372,857
01 A& Hl 1,242,857 0 1,242,857
O 281 LErArFe R (28 H) HaHMelAd &
Xl 1,242,857,000& = 14 1,242,857
= 870,000
Al 372,857
MEES(HEAZAALEXAL) 5,000,000 0 5,000,000
HEHHXS(ZH LB MAAT T LA SES A ) (LA 5,000,000 0 5,000,000
UUAA T ELAIE SE 3 H)
HEHH X = 5,000,000 0 5,000,000
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